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1. ________ spreads thought out the country or even around the world. 
(a) LAN (b) MAN (c) WAN (d) CAN 

2. A collection of related table with data in it is a ________. 
(a) Value (b) Record (c) Field  (d) Database 

3. When you change a ______ in a form, it gets changed in the table also. 
(a) File name (b) Record (c) Database (d) Both (a) and (b) 

4. Server stores files and information in the form of ________. 
(a) WebPages (b) Website (c) Tags  (d) File 

5. HTML stands for ____________________. 
(a) Hyper Text Markup Language (c) Higher Text Markup Language 
(b) Hyper Text Made-up Language (d) none of these 

6. MS Access provides __________ views to see data in a table. 
(a) Two (b) Three (c) Four  (d) Five 

7. A primary key does not allow __________ Value. 
(a) Zero (b) Numeric (c) Null  (d) Alphabetic 

8. The wires that connect computers and resources on the network are _______. 
(a) Connectors (b) Cables (d) both (a) and (b)  (d) None of these 

9. Inter-connection of various devices is called _______. 
(a) Chatting (b) Networking (c) Internet (d) Network 

10. What is the full form of MAN? 
(a) Main area network  (c) Metropolitan Arrow Network 
(b) Main Arrow Network  (d) Metropolitan Area Network 

11.  A _______ is a computer on the network. 
(a) Workstation (b) Modem (c) Resource (d) Network 

12. MS access is a _____ software. 
(a) DBMS  (b) RRMS (c) RDBMS (d) BDMS 

13. Which row displays a check mark in the query design grid? 
(a) Display  (b) Show (c) Unlock (d) All of these 

14. Hypertext was first coined by ________ 
(a) Tim berners, 1986  (c) Tim burners, 1992 
(b) Tim burners, 1989  (d) Tim burners, 1987  

15. Data is entered in ________ view. 
(a) Datasheet (b) Design (c) Table (d) Database 

16. NIC stands for _____________. 
(a) Networking interface card (c) Network internet card 
(b) Network internet capacity (d) Network interface card 

17. The first page of any website is called _________. 
(a) Main page (b) Display page (c) Home page (d) Mention page 

18. A __________ is a field which uniquely identifies. 
(a) Primary key (b) Tab key (c) Main key (d) Caps lock key 

19. Ms access __________ a form to a table. 
(a) Deletes  (b) Sends (c) Links (d) Insert 

20. The tags are always enclosed within a pair of ___________ brackets. 
(a) Curly  (b) Angular (d) Square (d) Simple 

21. Which topology is connected in the shape of a closed loop? 
(a) Star  (b) Bus  (d) Ring  (d) None of these 



22. While designing a table, __________ field is optional. 
(a) Description (b) Data type (c) Field name  (d) None of these 

23. A _____ is used to create or compose HTML documents. 
(a) Server  (b) Home page (c) Web sites (d) Text editor 

24. What is a graphical presentation of a table? 
(a) Report  (b) Query (c) Form (d) File 

25. A _______ is used to extract records from a table according to a certain condition. 
(a) Form  (b) Query (c) Report (d) Table 

26. A ________ topology has minimal line cost. 
(a) Star  (b) Bus  (c) Ring  (d) All of these 

27. TCP/IP stands for ____________. 
(a) Transfer control protocol/ internet protocol 
(b) Transmission control protocol/ internet protocol 
(c) Transmission control protocol/ Internet protection 
(d) Transfer control protocol/ internet protection 

28. Which is not a non empty tag from following? 
(a) <HTML></HTML>  (c) <BR> 
(b) <Head></Head>  (d) <Title></Title> 

29. __________ are used to input information in a more user friendly way than tables. 
(a) MS word (b) MS access (c) MS Excel (d) MS PowerPoint 

30. You can change the format of your report using the _____ option. 
(a) Format  (b) Design (c) Print  (d) Auto format 

31. What is the full form of XML? 
(a) Extensible Markup Language (c) Extensible Made-up language 
(b) Expensive markup language (d) Expensive Made-up language 

32. Which data type contains numeric values? 
(a) Text  (b) Number (c) Memo (d) Currency 

33. A ________ has a port where the network cable plugs in. 
(a) MAN  (b) CAN  (c) NIC  (d) None of these 

34. What is the shortcut key to save a database? 
(a) Ctrl+V  (b) Ctrl+O (c) Ctrl+P (d) Ctrl+S 

35. What s the shortcut key to open an existing database? 
(a) Ctrl+V  (b) Ctrl+O (c) Ctrl+P (d) Ctrl+S 

36. How many types of tags available in HTML? 
(a) 4  (b) 3  (c) 2  (d) 1 

37. A network can be of any __________. 
(a) Size  (b) Short (c) Large (d) Big 

38. What is the full form of HTTP? 
(a) Highertext transfer protocol (c) Higher text transfer protocol  
(b) Hypertext transfer protocol (d) Hyper text transfer Protection 

39. The concept of relational database was given by ___________ at IBM in ______. 
(a) E.F.Codd, 1970  (c) E.F.Codd, 1975 
(b) E.F.Codd, 1965  (d) E.F.Codd, !970 

40. In which topology all the nodes are connected to a central cable? 
(a) Star  (b) Ring  (c) Bus  (d) All 
 

 


